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Содержание программы
В соответствии с действующими учебными планами на полный курс обучения иностранному языку для заочных отделений вузов неязыковых специальностей отводится не менее 40 часов обязательных аудиторных занятий, 240 часов самостоятельной работы и консультации. За курс обучения студент выполняет 4 контрольные работы, сдает зачет и экзамен.  
К зачету (в конце первого года обучения) допускаются студенты, выполнившие 2 контрольные работы и сдавшие тексты общетехнического и страноведческого характера в объеме, предусмотренном программой (по профилю вуза).

Структура данных контрольных заданий может быть представлена в следующем виде:

1. Грамматический комментарий.
2. Лексико-грамматические задания.
3. Тексты с коммуникативно-направленными заданиями.
Грамматический комментарий первого года обучения включает в себя следующие темы:

1.  Имя существительное (The Noun). Классификация. Образование множественного числа. Выражение падежных отношений.

2.  Имя прилагательное (The Adjective). Классификация. Функции в предложении. Образование степеней сравнения.

3.  Имя числительное (The Numeral). Классификация. Правила образования и чтения.

4.  Местоимение (The Pronoun). Основные разделы местоимений. Их значение и употребление. 

5.  Глагол to be. Значение, употребление, спряжение. Конструкция to be + Infinitive. Оборот there + to be.
6.  Глагол to have. Значение, употребление, спряжение.

Грамматический комментарий подается небольшими дозами, содержащими минимальное количество трудностей для студентов, и подкрепляется соответствующими примерами. Объем материала увеличивается с увеличением языкового опыта студентов.

Каждая грамматическая тема заканчивается лексико-грамматическими заданиями. Закрепление грамматики и активизации профессиональной лексики осуществляется через чтение текстов и выполнение коммуникативно-направленных заданий по этим текстам.

Весь объем заданий для самостоятельной работы рекомендуется разделить равномерно на количество дней в промежутке между сессиями. Изучение первых трех грамматических тем и трех последующих заканчивается выполнением соответственно первой и второй контрольной работы и их защитой не позднее, чем за две недели до очередной экзаменационно-установочной сессии.

Методические указания
Особенностью овладения иностранным языком при заочном обучении является то, что объем самостоятельной работы студента по выработке речевых навыков и умений значительно превышает объем практических аудиторных занятий с преподавателем. Каждому аудиторному двухчасовому занятию должно предшествовать не менее шести часов самостоятельной работы студента. Для того чтобы добиться успеха, необходимо приступить к работе над языком с первых дней обучения в вузе и заниматься систематически. 

Самостоятельная работа студента (СРС) по изучению иностранного языка охватывает: усвоение лексики английского языка, уяснения действия грамматических правил, чтение текстов на английском языке вслух в соответствии с правилами чтения, построение вопросов и ответов к текстам, перевод на русский язык (устный и письменный).

В определенном смысле СРС является своего рода продолжением аудиторных занятий дома, в библиотеке, углублением и дополнением знаний, полученых в аудитории.

К плановой СРС по английскому языку относятся:

· написание контрольных работ;
· подготовка к зачетам и экзамену.
СРС при подготовке контрольных работ
Контрольные работы по английскому языку, которые выполняют студенты заочники, являются одним из обязательных видов межсессионных СРС, призванных выработать у студентов навыки самостоятельной работы, научиться пользоваться специальной литературой, умело использовать свои знания в применении к конкретным ситуациям.

Использование представленых в методических указаниях заданий должно быть полным, то есть должны быть ответы на все поставленные вопросы.

По итогам проверки контрольных работ проводятся групповые или индивидуальные собеседования с анализом наиболее типовых или сложных ситуаций. Контрольные работы оцениваются по двухбальной системе: „зачет”, „незачет”.

Собеседование – одна из разновидностей учебных занятий, которые проводятся в форме беседы преподавателя со студентом для выяснения его знаний. Собеседование проводится по темам, предусмотренным учебной программой. Собеседования могут проводиться за сеткой расписания по согласованию со студентами.

С целью успешной подготовки к собеседованию по контрольной работе студенты тщательно изучают замечания и рекомендации, данные преподавателем в процессе ее проверки. 

Собеседование может быть проведено как в форме беседы с отдельными студентами, так и с группой в целом. Она может также проходить и в форме ответов на вопросы выбранного студентом билета. Конкретные формы проведения собеседования  определяет преподаватель.

Подготовка к экзамену
Главная цель экзамена – оценка знаний студентов за 1 курс:
· насколько они глубокие, крепкие;
· в какой мере студент научился творчески мыслить;
· как применять полученные знания на практике.
К экзамену (в конце второго года обучения ) допускаются студенты, которые имеют зачет за 1 курс, которые выполнили 4 письменные контрольные работы и которые сдали учебный материал, предусмотренный программой второго года обучения.

ГРАММАТИЧЕСКИЙ КОММЕНТАРИЙ
     ИМЯ СУЩЕСТВИТЕЛЬНОЕ
        THE NOUN
КЛАССИФИКАЦИЯ. ОБРАЗОВАНИЕ МНОЖЕСТВЕННОГО ЧИСЛА, ВЫРАЖЕНИЕ ПАДЕЖНЫХ ОКОНЧАНИЙ
В английском языке, как и в русском, существительные по своей структуре делятся на:
1) простые, т.е. состоящие из одного корня:
ladle - ковш 
iron - чугун 
steel - сталь
2) производные, т.е. имеющие в своем составе кроме корня еще и суффиксы или префиксы, а иногда и то и другое:
to smelt      -  smelter          - сталевар 
to produce  -  production    - производство 
to develop  -  development - развитие 
to treat        -  treatment      - обработка
3) сложные, т.е. состоящие из двух или более основ:
                        thermocouple - термопара 
                         limestone      - известняк 
                         brick-work    - кирпичная кладка 
                         fire-brick       - огнеупорный кирпич 
Английское  имя  существительное  имеет два  числа:  единственное  и множественное.
Множественное число существительных образуется путем прибавления к форме единственного числа окончания ”-s”.
                            a mill (прокатный стан) - mills
                            a shop (цех)
                   - shops
                            a converter (конвертер)  - conveners
Однако окончание -s не всегда является показателем множественного числа имен существительных. На -s оканчиваются некоторые существительные в единственном числе: a works ~ завод, комбинат.
Окончание -s  в единственном числе имеет целый ряд заимствованных из других языков существительных:
synthesis      -    синтез
analysis        -   анализ
nucleus        -    ядро
electronics   -   электроника
series           -    серия, ряд
physics        -    физика
economics   -    экономика и др.
Неисчисляемые существительные (обозначающие предметы и понятия, которые счету не поддаются) формы множественного числа не имеют. Они не употребляются с количественными числительными и неопределенным артиклем:
iron      -   железо
                oxygen    -    кислород
copper  -   медь
                growth     -    рост
coal      -   уголь                    air            -    воздух 
В отличие от русского в английском языке сохранилось только два падежа существительных: общий и притяжательный. Существительные в общем падеже не имеют специального окончания. Функция существительного в общем падеже определяется его местом в предложении.
At this works (обстоятельство) steel (подлежащее) will be produced by direct reduction (дополнение).
На этом заводе сталь будет получена путем прямого восстановления.

Существительное в притяжательном падеже выражает принадлежность, является определением к другому существительному и ставится перед ним. Форма притяжательного падежа образуется путем прибавления 's (апострофа и «s») к существительному единственного числа в общем падеже.
The Dnipropetrovsk Region occupies 5,3% of Ukraine's territory.
Днепропетровский регион занимает 5,3% территории Украины.

Отношения существительных к другим словам в предложении, а именно отношения родительного, дательного и творительного падежей, в английском языке передаются существительным в общем падеже в сочетании с предлогами:

In 1995 the enterprises of our Region (родительный падеж) exported their production to more than 69 countries.
В 1995 году предприятия нашего региона экспортировали свою продукцию в более, чем 69 стран.
Metals were classified due to their physical and chemical properties (дательный падеж).
Металлы были классифицированы в соответствии со своими физическими и химическими свойствами (благодаря своим физическим и химическим свойствам).
The plant is equipped with unique rolling mills (творительный падеж).
Завод оборудован уникальными прокатными станами.
ЗАДАНИЯ
Задание 1. Укажите, в каких (из перечисленных ниже) именах существительных окончание «s» является показателем множественного числа.
1.  smelters                     6. analysis
          11. economics
2.  works                         7. pipes
                       12. furnaces
3.  nucleus                       8. ladles            
13. physics
      4. series                           9. mills                       14. raw materials

      5. plants                         10. synthesis                15. supplies

Задание 2. Укажите, какие из перечисленных имен существительных не имеют формы множественного числа.
1.  iron                             5. plant                         9. copper
2.  shop                            6. alloy                       10. coal
3.  converter                     7. oxygen                   11. product
4.  metal                           8. furnace                   12. region
Задание З. Определите предложения, в которых подчеркнутые имена существительные находятся в:

а)
 родительном падеже;
б)
 дательном падеже;     
в)
 творительном падеже.
1.  Compounds of sulphur occur in iron ores, in limestone and in coal.
2.  All living things can't exist without oxygen.
3.  Hydrogen has a strong tendency to combine with oxygen.
4.  Substances may change into other substances by processes called chemical reactions.

5.  The natural conditions of the Dnipropetrovsk Region are perfect for man's activity.
6.
 Much attention should be paid to the reconstruction of metallurgical
 industry.
Задание 4. Укажите  индексы русских предложений в колонке справа, эквивалентные английским предложениям из колонки слева.
1.  Not long ago this work was              а. Высококачественное сырье обеспечивает
 equipped with modern rolling mills.       производство хорошей стали.
2.  The implementation of modern        b. Он работает на новом прокатном
 technology at this plant ensures high       стане, оборудованном на этом заводе.
 quality of production.                           c. Внедрение современной технологии
3.  Unique rolling mills went into              на этом заводе обеспечивает
 operation at these plants.                          высокое качество продукции
4.  His works were of great importance  d. Необходимо обеспечить завод                         for improving the technology at the           высококачественными
 works.                                                        промышленными материалами.

5. High quality of raw materials            e. Недавно этот завод был оборудован                    the ensures production of good steel.        современными прокатными станами.
6.  He works at the new rolling mill      f.  Его труды имели большое
equipped at this plant.                                значение для  улучшения технологии  

                                                                   на заводе.
7. It is necessary to provide the works    g. Уникальные прокатные станы                                                                        with industrial materials of high quality.    вступили в строй на этих заводах.                                                                                       Задание 5. Укажите номера предложений, в которых употреблены следующие слова:
а) заводом; b) завода; с) рабочие; d) на заводе;
е) завод;      f) труды;  g) работает; h) у завода.
1.  It is necessary to improve the technology of the works'.

2.  The engineer works at the plant not far from his house.

3.  The works exports its production to many countries.

4.  They found the solution of the problem in his works.

5.  The workers did their best to reconstruct the shop as quickly as possible.
6.  The raw materials received by the works was of low quality.

7.  The workers met the engineer near the works.

8.  His works were of great importance for blast furnace engineers.

9.  He works at the iron and steel plant.

Задание 6. Нижеследующий текст можно разделить на три части. Каким образом вы бы осуществили деление? Озаглавьте каждую часть.
Metallurgy is a science dealing with the constitution, structure and properties of metals and alloys, and the processes by which they are obtained from ores and adapted for the use of man.
It is based on the laws of physics and chemistry dealing with the fundamentals of matter and energy and the changes which occur in matter.
Physical metallurgy deals with the correlation between the structures of metals and alloys, as revealed by the microscope, and their properties, as these properties are effected by the method of manufacture, by heat treatment, chemical composition and hot or cold working of the metals.
Extractive metallurgy deals with such operations as mining the ores, concentrating them by some suitable means, and then smelting them in order to separate the metals from the elements with which they are chemically combined. For example, iron ores are first mined, then washed to remove a large part of the earthy impurities with which they are associated. After this concentration the iron ores (generally oxides) are smelted in a blast furnace, which separates the oxygen from the iron. Pig iron, the product of the blast furnace, then goes to the foundry, or to some steel processes at the point of which we are in the province of physical metallurgy.
ИМЯ ПРИЛАГАТЕЛЬНОЕ                                                        THE ADJECTIVE

КЛАССИФИКАЦИЯ. ФУНКЦИИ В ПРЕДЛОЖЕНИИ.                   ОБРАЗОВАНИЕ СТЕПЕНЕЙ СРАВНЕНИЯ.
По своей структуре английские прилагательные бывают:
1)
простые, т.е. состоящие только из одного корня, например:
 direct      -     прямой 

 liquid     -      жидкий 

 solid      -      кислый 

 basic      -      основной
2) производные, т. е. имеющие кроме корня суффиксы или префиксы, а иногда и то, и другое, например:
productive  -   продуктивный
desirable     -   желательный
unsuitable   -   непригодный
3) сложные, т.е. состоящие из двух и более основ, например:
 heavy-duty   -   мощный
 endothermic -   эндотермический
 widespread   -   широко распространенный
В предложении английские прилагательные могут выполнять следующие функции:
1.Определения:
This plant produces steel of excellent quality.
Этот завод производит сталь высокого качества.
2. Именной части сказуемого:
The quality of steel was excellent.
Качество стали было отличным.

Качественные прилагательные в английском языке имеют (как и в русском) три степени сравнения: положительную, сравнительную и превосходную.
Положительная степень обозначает качество предмета вне сравнения с каким-либо другим предметом: high - высокий, strong - прочный, malleable -ковкий.
Сравнительная степень указывает на наличие большей степени качества у одного предмета по сравнению с другим.
Английские односложные и двусложные прилагательные образуют сравнительную степень при помощи суффикса -er: strong - stronger (прочнее), fine - finer (мельче), high - higher (выше).
Все многосложные прилагательные образуют сравнительную степень при помощи служебного слова more (более): malleable - more malleable (более ковкий), expensive - more expensive (более дорогой).
Для обозначения более низкой степени качества употребляется служебное слово less (менее): malleable - less malleable (менее ковкий), expensive - less expensive (менее дорогой).
Превосходная степень указывает на высшую степень качества у того или иного предмета среди всех других аналогичных ему предметов.
У односложных и двусложных прилагательных превосходная степень образуется путем прибавления к положительной степени суффикса -est. Перед существительным с прилагательным в превосходной степени, как правило, ставится определенный артикль: strong - (the) strongest (самый прочный), fine -(the) finest (мельчайший), high - (the) highest (самый высокий).
Все многосложные прилагательные образуют превосходную степень при помощи служебного слова (the) most (наиболее, самый): malleable - (the) most malleable (самый ковкий), expensive - (the) most expensive (самый дорогой).
Для обозначения самой низкой степени качества употребляется служебное слово (the) least (меньше всего, наименее): malleable - (the) least malleable (наименее ковкий), expensive - (the) least expensive (наименее дорогой).
Примечание:   Некоторые   английские   прилагательные   образуют   степени сравнения от разных основ. Их следует запомнить:
good (хороший)    - better (лучше)  -   (the) best (наилучший)
bad (плохой)         - worse (хуже)    -   (the) worst (наихудший)
little (маленький)  - less (меньше)   -   (the) least (самый маленький).
Примечание:    Для    выражения    неодинаковой   степени    качества   может употребляться и положительная степень, а именно:
1) для выражения меньшей степени качества в конструкциях;
not so + прилагательное в положительной степени + as ...
This metal was not so malleable as we believed.
Этот металл оказался не таким ковким, как мы полагали.                           
half as + прилагательное в положительной степени + as ...                         
This material is half as expensive as that one.                                                        Этот материал наполовину дешевле того.
2) для выражения большей степени  качества (ср. с русским “вдвое больше”, “втрое тяжелее”) в конструкциях:
twice as + прилагательное в положительной степени + as ...
This plant is twice as big as the old one.
Этот завод вдвое больше старого.
three times (four times и т.п.) as + прилагательное в положительной          степени + as...
The capacity of this furnace is 50 times as big as the capacity of the old one.
Мощность этой печи в 50 раз больше мощности старой печи.
ЗАДАНИЯ
Задание 1. Выберите из таблицы
 слова и окончания, необходимые для перевода на английский язык следующих словосочетаний:


а) еr            | b) more        | с) least      | d) est            | e) less          | f) most         
1)  самый прочный
                     (strong)
2)  более ковкий
                          (malleable)
3)  самый дорогостоящий
          (expensive)
4)  более мелкий
                        (fine)
5)  самый высокий
                      (high)
6)  менее важный                        
(important)
7)  более экономичный           
(economic)
8)  менее трудный
                       (difficult)
9)  более крупный, крупнее
(large)
     10) самый длинный
                      (long)
Задание 2. Выберите из таблицы английские слова, необходимые для перевода подчеркнутых русских слов в приведенных ниже словосочетаниях:
	a) more malleable
	b) the strongest
	c) the best
	d) less expensive

	e) the greatest
	f) the least
	g) further
	h) the worst

	i) the most difficult
	j) the biggest
	k) larger
	1) less  fine


1)   самый лучший завод                               7)  самая трудная задача
2)   менее дорогой сплав                                 8) самая большая печь
3)   более ковкие металлы                              9)  дальнейший план
4)   самая прочная сталь                              10)  менее мелкие зерна
5)   наименьшая скорость                            11)  более крупный завод
6)   самая большая цель                               12)  наихудшее сырье
Задание З. Найдите в правой колонке английские словосочетания, идентичные русским словосочетаниям в левой колонке.
a)  more difficult

b)  the most expensive

c)  stronger

d)  the most malleable

e)  the highest

f)  worse

g)  the best
h) finer

i)  more malleable     

j)  the most difficult  

k) the strongest
1) менее желанный                                            a) more difficult

2) выше                                                               b) the most expensive

3)  наиболее трудный                                          c) stronger
4) хуже                                                                d) the most malleable

5) наилучший                                                     e) the highest
6) более ковкий                                                  f) worse
7) самый прочный                                              g) the best
8) более жидкий                                                 h) finer
9) мельче                                                              i) more malleable
10) самый высокий                                              j) the most difficult
11) самый плохой                                                k) the strongest
12)  более подходящий                                      I) the worst
13)  прочнее                                                        m) higher
14)  самый дорогой                                             n) more suitable
15)  более трудный                                              o) less desirable
16)  самый ковкий                                              p) more liquid
Задание 4. Выберите из таблицы английские слова, требуемые для заполнения пропусков в приведенных ниже предложениях.
	a) not so ... as
	e) half as ... as
	i) less ... than

	b) three times as ... as
	f) twice as ... as                 
	j) the least

	c) higher ... than
	g) more
	k) much

	d) the more ... the greater
	h) the most
	1) than


1. The   quality   of the   produced   steel   is ... we expected. (Качество выпускаемой стали выше, чем мы ожидали). 
2. ... metal a country produces, ... is its industrial strength. (Чем больше металла производит страна, тем значительнее ее промышленный потенциал).
3.  The capacity of this new shop is ... the old one. (Производительность
этого нового цеха втрое выше производительности старого).

4.  The iron was ... malleable ...  we expected. (Чугун не был таким
ковким, как мы ожидали).

5.  The quality of this raw materials is ... good ... it is necessary. (Качество
этого сырья хуже, чем это необходимо).

6.  The size of the new furnace became .... bigger. (Размер новой печи стал намного больше).
7.  The metal turned out to be ... ...malleable ... we believed. (Этот металл
        оказался не таким ковким, как мы полагали).
8. The new plant built in this region is … … as the old one. (Новый завод,
        построенный в этой области, вдвое больше старого).
9. The usage of this material was ... economic. (Использование этого
материала оказалось более экономичным).
10. Their device used in this process is… … expensive ... ours. (Их прибор,              использованный в этом процессе, наполовину дешевле нашего).
Задание 5. Прочитайте текст и ответьте на вопросы, используя информацию, полученную в результате прочитанного, а также собственные знания.
There are two kinds of chemical reactions: exothermic, characterized by the evolution of heat, and endothermic, by absorption of heat.
The most important reactions from a metallurgical viewpoint are oxidation and reduction. Oxidation can be defined as the combination of a substance with oxygen, and reduction as the giving up of oxygen by a substance.
Chemical elements can be classified into two groups according to whether their normal compounds are acid or basic. In metallurgical processes it is important that the acid and basic substances be clearly known. Acids and bases react to form new substances called “salts”.
In order to prevent undesired reactions in metallurgical processes it is necessary that acid substances be used in contact with acid furnaces, that is, silica-lined furnaces; and that basic substances be used in conjunction with basic furnaces, having magnesite or dolomite linings.

1. What two kinds of chemical reactions do you know?

2.  What is oxidation? Is oxidation an exothermic or endothermic reaction?

3.  What is reduction?
                4. What rule is strictly observed   in metallurgical processes to prevent
undesired reactions?

ИМЯ ЧИСЛИТЕЛЬНОЕ                              THE NUMERAL
КЛАССИФИКАЦИЯ. ПРАВИЛА ОБРАЗОВАНИЯ И ЧТЕНИЯ
Имена числительные в английском языке (как и в русском) делятся на количественные и порядковые.
Количественные числительные обозначают число предметов и отвечают на вопрос  how many? (сколько?).
Ukraine smelts more than 50 million tons of steel a year.
Украина выплавляет болей 50 млн. тонн стали в год.

Порядковые числительные обозначают порядок при счете и отвечают на вопрос which? (который по порядку?).
This atomic station is the second in our region.
Эта атомная станция вторая в нашей области.

По своей структуре числительные бывают простые, производные и составные.
Числительные от 1 до 12 - простые. Числительные от 13 до 19, а также числительные, обозначающие десятки, - производные. Числительные, обозначающие десятки с единицами, и числа более сотни - составные (например, 23, 37, 252).
Количественные числительные от 1 до 12 следует выучить.
Количественные числительные от 13 до 19 образуются путем
прибавления суффикса -teen к соответствующим числительным первого
десятка:

                       fourteen - четырнадцать
sixteen    - шестнадцать 

nineteen – девятнадцать
Количественные числительные, обозначающие десятки, образуются
путем прибавления суффикса -ty к соответствующим числительным первого
десятка:


                       forty     -   сорок
                                   sixty     -   шестьдесят 
                                   ninety   -   девяносто
При чтении составных числительных между сотнями и десятками, а при отсутствии десятков между сотнями и единицами употребляется союз and:                                

                        231 - two hundred and thirty one
                        304 - three hundred and four.
Порядковые числительные образуются путем прибавления суффикса -th к соответствующим количественным числительным:
                          four           - (the) fourth
       - четвертый
 six             - (the) sixth               - шестой
 eighteen    - (the) eighteenth       - восемнадцатый
При    образовании    составных    порядковых    числительных    только последний разряд приобретает форму порядкового числительного:   
                          (the) sixty-fourth     -     шестьдесят четвертый                                                                   
                          (the) seventy-ninth  -     семьдесят девятый
Дробные числительные. В простых дробях числителем является количественное числительное, а знаменателем - порядковое: 1/7 - one seventh – одна седьмая.
При чтении простых дробей, если числитель их больше единицы, к знаменателю прибавляется окончание множественного числа -s: 2/4 - two fourths – две четвертых, 3/5 - three fifths – три пятых.
Дроби 1/2 и 1/4 читаются соответственно: a (one) half- половина, a (one) quarter -четверть.
В десятичных дробях целое число отделяется точкой, и каждая цифра читается отдельно: 3.24 - three point twenty-four = three point two four, 0.35 - zero point three five = point thirty-five.
Существительные, следующие за дробью, имеют форму единственного числа, и перед ними при чтении ставится предлог of: 0.05 ton - point zero five of a ton, 2/3 metre - two thirds of a metre.
Существительные, следующие за смешанным числом, имеют форму множественного числа и читаются без предлога of: 45 1/7 tons - forty-five and one seventh tons.
Для обозначения года употребляется количественное числительное, которое при чтении разбивается на две части - число сотен и число десятков и единиц:   1997 - nineteen ninety-seven, 1762 - seventeen sixty-two.
ЗАДАНИЯ
Задание 1. Укажите в таблице цифры, соответствующие записанным словами числительным.
	a) 2.74
	b) 4.72
	с) 0.09
	d) 2.47
	e) 0.9

	f) 2/3
	g) 20.09
	h) 3/4
	i) 23.08
	j) 36 1/8


6) thirty six and one eighth

7) two thirds
8) two point seventy four
9) point zero nine
10)
zero point nine
1)  two point forty seven                                          6) thirty six and one eighth

2)  four point seventy two                                        7) two thirds 

3)  twenty point zero nine                                        8) two point seventy four

4)  three fourths                                                        9) point zero nine

5)  twenty three point zero eight 
                   10) zero point nine
Задание   2. Найдите в колонке справа английские значения русских числительных из колонки слева:
1) пятый                                                      a) two thirds             
2) одиннадцать                                           b) thirty
3) тридцать                                                  c) five
4) пять                                                         d) one hundred
5) сто                                                           e) thirteen
6) сто тысяч                                                f) the fifth
           7) тринадцать                                             g) one hundred thousand

 8) одиннадцатый                                        h) eleven
 9) две трети                                                 i) the eleventh
Задание З. Прочитайте текст, обращая внимание на свойства чистого железа и его соединений. Кратко изложите их в письменном виде.
Iron is one of the most plentiful metals on the earth and its occurrence is widespread throughout the world.
Pure iron, almost unknown, is malleable, ductile, and magnetic. Its specific gravity is 7.85 to 7.88, and its melting point is 1 539°C. Iron occurs in combined states.
Iron ores are commonly found as oxides, carbonates, and sulphides, and are known by the following names: hematite, magnetite, siderite, pyrite and limonite.
Hematite when pure contains 70 per cent iron, but the iron content of the ore as mined is much lower, the ore usually yielding 50 per cent of iron. This ore is of very common occurrence in the United States.
Pure magnetite contains 72.5 per cent iron, the iron content of the ore is 60 per cent of iron. The magnetite ores of Sweden are very pure and are a source of  the Swedish steel which is famous for its freedom from sulphur and phosphorus.
Siderite, which is very poor in iron (48 per cent iron), is unimportant in the United States but is used in England.
The use of pyrite, which is an ore of wide occurrence, for the production of pig iron is not desirable because it must first be roasted to remove sulphur which if not removed would have an injurious effect on the steel produced.
Ukraine is rich in all kinds of iron ores, especially in hematite.
МЕСТОИМЕНИЕ                                                                                              THE   PRONOUN                                                                                  ОСНОВНЫЕ РАЗДЕЛЫ МЕСТОИМЕНИЙ.                                                      ИХ ЗНАЧЕНИЕ И УПОТРЕБЛЕНИЕ.
Местоимения по своей структуре делятся на простые (состоящие из одной основы, например: те - меня, his - его) и сложные (состоящие более чем из одной основы, например: myself - себя).
По   своему   значению   местоимения   делятся   на   десять   разрядов. Остановимся     на     разрядах     личных,     притяжательных,     указательных, вопросительных и неопределенных местоимений. 
Личные местоимения
Личные местоимения являются показателями лица и имеют форму именительного и объектного падежа:
      Именительный падеж      Объектный падеж  
1 лицо
2  лицо
3  лицо
	Единственное число
	
	

	I         я
	mе
	меня

	you    ты, вы 
he      он
	you  
him
	тебя, вас 
его   

	she    она
	her
	ее

	 it      оно
	it                 it
	его, ее                  його, її

	Множественное  число ччччччичислоМножина
	
	


1  лицо
2  лицо
3  лицо
	we      мы
	us
	нас

	you     вы 
they    они
	you 

them
	вас 
их


Личные местоимения употребляются вместо существительных. Местоимение it употребляется вместо существительных, обозначающих неодушевленные предметы:
Here is a new plant. It was built two years ago.
Вот новый завод. Он был построен два года назад.
Личные местоимения в именительном падеже могут выполнять в предложении функцию подлежащего:
Не worked at the metallurgical plant last year.
     В прошлом году он работал на металлургическом заводе. 
и именной части сказуемого:
That was he who worked at this metallurgical plant.
Именно он работал на этом металлургическом заводе.
Притяжательные местоимения

Притяжательные   местоимения   отвечают   на   вопрос   whose?   (чей?).
Каждому личному местоимению соответствует притяжательное местоимение:
          I   -   my
      he   -   his                  we  -  our
                           she  -  her
 
you -  your

      it     -   its
           they -   their
В отличие от русского в английском языке притяжательные местоимения не изменяются по падежам:
Our engineer is in the shop.
Speak to our engineer.
               Наш инженер в цеху.
        Поговорите с нашим инженером.
В предложении притяжательные местоимения выполняют функцию определения.
Указательные местоимения
К указательным местоимениям относятся местоимения this, that, such, same. This (этот, эта, это) имеет форму множественного числа these (эти), a that (тот, та, то) - those (те):
this metal    -   этот металл
that property        -   то свойство
these alloys -   эти сплавы
those properties   -    те свойства.
Указательные местоимения such (такой, такая, такое, такие) и same (тот же самый, та же самая, то же самое, те же самые) имеют одну форму для единственного и множественного числа.
Указательные местоимения могут выполнять в предложении следующие функции:
1)
 подлежащего -This is the most common solid fuel.
          Это наиболее распространенное твердое топливо.
2) именной части сказуемого - Such is the result.
                    Таков результат.
3)
 дополнения - Не told me about this.
          Он рассказал мне об этом.
4) определения - This metal is ductile.
           Этот металл пластичный.
Иногда, чтобы избежать повторения уже упомянутого существительного, употребляется указательное местоимение that (those):
           This metal is more malleable than that used in your experiment.
Этот металл более ковкий, чем (тот металл) использованный в вашем опыте.
                   Вопросительные местоимения 
К вопросительным местоимениям относятся местоимения who?(кто?), what?(что? какой?),  whose?(чей?),  which?(котрый?).
Вопросительные  местоимения   служат  для   образования   специальных вопросов, в предложении могут выполнять функцию определения: 
What technology is used here? 
Какая технология использована здесь?
Неопределенные местоимения
Неопределенные местоимения some, any, no, every являются простыми. Они передают значение неопределенности, обычно являются определениями к существительным и стоят вместо артикля. Some употребляется, как правило, в утвердительных предложениях и имеет значение «несколько, некоторые»:
Metals have some strictly metallic properties.
Металлы имеют несколько исключительно металлических свойств.
Some metals are defined as ferrous and some as non ferrous ones.
Некоторые металлы определяются как черные, а некоторые как цветные.
Some of переводится на русский язык как «некоторые из»:
Some of the Ukrainian regions are rich in coal.
Некоторые из регионов Украины богаты углем.
Any употребляется, как правило, в вопросительных и отрицательных предложениях. Выполняя функцию определения к исчисляемому существительному, any имеет значение «какой-либо (-нибудь), какая-либо, какое-либо, какие-либо»:

Are there any chemical differences between metals and non-metals? 
Есть ли какие-нибудь химические различия между металлами и неметаллами?
В сочетании с отрицательной частицей not местоимение any означает «никакой, никакого, никаких»:
They didn't get any raw materials. 
Они не получили (никакого) сырья.
Выполняя функцию определения к неисчисляемому существительному any имеет значение «сколько-нибудь»: 
Is there any steel in the furnace now? 
В печи есть сейчас сталь (сколько-нибудь стали)?

No выражает отсутствие чего-либо и может быть только определением к существительному как в единственном числе, так и во множественном: 
Atoms have no electric charge. 
У атомов нет электрического заряда.
Сложные местоимения, образованные от местоимений some, every, any, nо, могут употребляться соответственно в утвердительных, вопросительных и отрицательных предложениях:

The furnace has something new in its technology. 
В технологии печи есть что-то новое.
 Is there anything new in the properties of this alloy? 
Есть ли что-нибудь новое в свойствах этого сплава?
Неопределенное местоимение one (ones) употребляется: 
1) для   выражения   подлежащего   в   предложениях,   соответствующих русским неопределенно-личным предложениям:
The engineer must know the technology of this process well.
Инженер должен хорошо знать технологию этого процесса.
One must know the technology of this process well.
Необходимо хорошо знать технологию этого процесса. 
2) во избежание повторения ранее упоминавшегося существительного:
This shop is to be reconstructed or they are to build a new one.
Этот цех должен быть реконструирован, или им необходимо
построить новый (цех).
ЗАДАНИЯ
Задание 1. Выберите из таблицы необходимые по смыслу местоимения и вставьте их вместо точек в предложения.
	a) it
	с) its
	e) that
	g) which
	i) every

	b) they
	d) their
	f) her
	h) those
	j) this


1)  Metallurgy is a science that deals with the structure of metals. ... is based on the laws of physics and chemistry.

2)  Heat is one of the best known forms of energy. ... capacity for doing work may be utilized in the melting furnace.

3)  Matter is simply defined as ... which occupies space.

4)  Chemical compounds are substances which are homogeneous throughout ...
 masses.

5)  The most important chemical reactions for metallurgy are ... of oxidation
 and reduction.

6)  The quantity of heat in a given piece is indicated by ... temperature.

7)  Pellets are the charge for a blast furnace ... must be of certain quality.

8)  A new blast furnace is introduced at... plant. ... steel shell will be of about
 90 m high.

9) Iron is smelted when ... reaches the hottest part of a blast furnace.


Задание 2. Укажите предложения, в которых слово «one (ones)» употребляется:
1)  для выражения подлежащего;
2)  вместо упомянутого ранее существительного;

3)  в качестве числительного.

  a) Iron is one of the most plentiful metals on the earth.

  b) Agglomeration is a treatment of iron ores, both poor and rich ones.
  c) Being a metallurgist one must know the properties of metals and alloys.

  d) Manganese is a constituent of steel. Іt is the most important one.
  e) Silver and gold have low oxide stability. They are known as «noble» ones.
  f) Sodium is a very reactive metal. One must know it.
  g) Oxygen is one of the elements widely distributed in nature.
Задание З. Укажите номера предложений, в которых «that» заменяет упомянутое ранее существительное.
     1) The iron content of the ores is much lower than that of pure hematite.
2)  Many valuable raw material combinations were discovered in that region.

3)  The sinter plant is designed in that part of the city.

4)  The capacity of this new shop is much greater than that of an old one.
Задание 4. Просмотрите текст, после чего заполните пропуски в нижеследующих предложениях соответствующей информацией.
Matter is simply defined as that which occupies space. Matter is constantly undergoing changes. These are: (I) physical changes which do not affect the composition of matter and (2) chemical changes which do affect its composition. The substances taking part in chemical changes are defined as chemical compounds or elements.
Chemical compounds are substances which are homogeneous throughout their masses and which cannot be separated by mechanical means. They are combinations of fundamental substances called «elements».
Elements are those substances which resist all attempts at further decomposition.
The elements have been given values based on the relative by combining weight, using hydrogen as a unity, which values are known as atomic weights and which permit the calculations of the weights of reacting substances and the products formed.

1.  Matter is simply defined as ... осcupies space.

2.  Physical changes do not... the composition of....

3.  Chemical changes affect... of matter.

4.  Chemical compounds are ... homogeneous throughout their masses.

5.  Elements are ... which resist... at further decomposition.

6.  The atomic weights permit ... of reacting substances and the products
 formed.

ГЛАГОЛ «ТО BE»
ЗНАЧЕНИЕ, УПОТРЕБЛЕНИЕ, СПРЯЖЕНИЕ.
Английский глагол to be в предложении может употребляться в качестве самостоятельного глагола в значении «быть, находиться» и глагола-связки в значении «быть, являться»:
The largest blast furnace in the world is in Krivoy Rog.
Крупнейшая в мире доменная печь находится в Кривом Роге.
Ferrous metallurgy is a core of national economy. 
Черная металлургия - основа национальной экономики.
Спряжение глагола «to be» (быть) в Present, Past,  Future Simple Tenses.
	Present Simple
	Past Simple
	Future Simple

	I            am
	I             was
	I               shall be

	You       are
	You       were
	You         will be

	He          is
	He         was
	He            will be

	She         is
	She        was
	She          will be

	It            is
	It           was
	It              will be

	We         are
	We        were
	We           shall be

	They      are
	They     were
	They        will be


Вопросительные предложения с глаголом to be образуются путем инверсии - сказуемое или часть его ставится перед подлежащим:
Is silicon a good deoxidizer?
Кремний хороший восстановитель?
Are malleability and ductility metallic properties?
Ковкость и пластичность металлические свойства?

Отрицательные предложения с глаголом to be образуются с помощью отрицательной частицы not, которая ставится после глагола: 
Gold and silver are not reactive metals.
Золото и серебро - не реактивные металлы.
Aluminium is not heavy in weight.
Алюминий не тяжелый по весу.

Примечание: Глагол to be, который употребляется с инфинитивом смыслового глагола, теряет свое значение «быть» и выражает долженствование по договоренности или установленному порядку (т.е. употребляется с модальным значением):
The converter is to go into operation today.
Конвертер должен вступить  в строй сегодня.

На русский язык конструкция to be + Infinitive переводится с использованием слов «необходимо, нужно, должен» и при этом обязательно учитывается время, число, лицо вспомогательного глагола «to be». Второй компонент конструкции - инфинитив смыслового глагола - всегда имеет форму с частицей «to».
ЗАДАНИЯ
Задание 1. Выберите из таблицы необходимые по смыслу глагольные формы и вставьте их вместо точек в предложения.
a) is               c) are                  e)shаll be              g) was                i) are not


b) were           d) will be              f) am                     h) to be               j) is not

1)  Many metals and alloys ... ductile and malleable.
2)  After the Great Patriotic War iron and steel industry ... in a catastrophic,
       state.
3)  Coke breeze ... the most common solid fuel today.
4) Pig iron ... the product of the blast furnace.

          5) Hydrogen and oxygen … gases.

          6) The main reasons for a slow growth of metal output at that time … mistakes in planning.
          7) Hardness … the only property of an element.

8) The most important metallurgical reactions … oxidation and reduction.

          9) A proton … a negatively charged particle.

        10) These materials … of great importance for industry in the near future.

        11) Batteries ...  the only sources of electricity. 
Задание 2. К предложениям в левой колонке найдите ответы из колонки справа.
1) Is pig iron the product of the blast furnace?                   a) Yes, they were                                                                             
2) Are electrons positively charged particles?                      b) Yes, they are
3) Is Ukraine rich in iron ores?                                             c) No, it is not
4)  Was copper one of the first metals used by man?         d) Yes, it is
5)  Will electronics be the most important branch of             e)  No, we are not
     industry?
      6) Are neutrons and electrons particles of an atom?             f) Yes, it will
7)Are protons positively charged particles?                          g) No, they are not
8) Are atoms electrically neutral?                                          h) Yes, it was

Задание 3. Найдите в колонке справа логическое окончание предложений из колонки слева, обращая внимание на необходимость согласования глагола to be с подлежащим.
1) Plasticity...                                   a) is a steel - shell of 70 - 80 m high.
2) Non-metals ...                                   b) is the most undesirable impurity in
                                                             steel.
3) Manganese ...                                 c) is   an   ability   to    resist    surface
                                                                   penetration.
4) Phosphorous ...                              d) is a property of metals.
5) Hardness ...                                    e) are usually amorphous.
6) Silica...                                        f) is  an  ability  to  withstand  a  load
                                                                without destruction.
7) The blast furnace ...                     g) is the most important constituent of
                                                                steel.
8) Strength ...                                     h) is an alloy of copper and tin.
9) Aluminium and magnesium ...      i) is the only natural acid flux used in
                                                            steelmaking.
10) Bronze...                                      j) are light in weight.

Задание 4. Укажите индексы глаголов (в таблице), которые необходимы для образования вопросительной и отрицательной формы следующих предложений:
	a) was
	с) does
	e) will be
	g) do
	i) am

	b) shall be
	d) is
	f) are
	h) were
	j) did


1)  Ductility is a metallic property.
2)  After the Great Patriotic War metallurgical industry was in a catastrophic
state.
3)  He was a well-known blast-furnace engineer.
4)  Metals will always be used by man.
5)  These elements are good conductors of heat.
6)  These metallurgical reactions were very important for the experiment.
7)  Copper was one of the first metals discovered by man.

Задание  5.  Определите  в   правой   колонке  предложения  эквивалентные английским предложениям из левой колонки.
1) The ferrous metallurgy is to be the      а) Сера в стали должна
core of national economy.                        рассматриваться как вредная примесь.

2) New equipment was to be installed     b) На этом заводе должно начаться
at the shop.                                                производство высокомарочной стали.

3) Carbon is to be a constituent of steel.  c) Углерод должен входить в состав
                                                        стали.
4) The production of high-grade steel is   d) Черная металлургия должна быть
to start at this works.                                  основой национальной экономики.
5) Sulphur in steel is to be considered as   e) Новое      оборудование      было
a harmful impurity.                                    установлено в цехе.    

6) New equipment was installed at the      f) В    цехе    должно    было    быть 

shop.                                                           установлено новое оборудование.
7) High-grade steel is the production        g) Высокомарочная сталь - продукция
of a new works.                                          нового завода.
8) Sulphur is one of the harmful                h) Углерод является одним из
impurities in steel.                                      составляющих элементов стали.
9) The ferrous metallurgy is the basis        i) Черная металлургия – основа             of national economy.                                  национальной экономики.
10) Carbon is one of the constituents of    J) Сера является одной из вредных 
steel.                                                            примесей в стали.
ОБОРОТ “THERE + TO BE”
Сочетание глагола to be с there указывает на наличие или отсутствие какого-либо предмета (или предметов) в определенных условиях (в данном месте, в определенных обстоятельствах):
There is a metallurgical plant in this district.
В этом районе находится металлургический завод.
There are some types of rolling mills at this plant.
На этом заводе несколько типов прокатных станов.
Перевод английской конструкции there + to be обычно начинается с обстоятельства места. Слово there в этой конструкции на русский язык не переводится:

There are protons, neutrons and electrons in the atom.
В атоме находятся протоны, нейтроны и электроны.
В вопросительных предложениях в настоящем и прошедшем времени личная форма глагола to be ставится перед there, а в будущем времени - вспомогательный глагол will:
- Are   there   physical   and   chemical            - Есть ли физические и химические
differences   between   metals   and   non-       различия между металлами и
metals?
                             неметаллами?
- Yes, there are.
                            - Да, есть.

- Was there only one way of liberating            - Существовал только один способ electrons from atoms?
                             освобождения электронов в атоме?
- No, there was not.                                          - Нет.
- Will there be two new rolling mills in           - В этом цехе будет два новых
this shop?
                           прокатных стана?

 - Yes, there will.
                            - Да.
ЗАДАНИЯ
Задание 1. Укажите индексы предложений из колонки справа, грамматически и логически соответствующие началу предложений из колонки слева.
1) There is ...                              a) series of cast iron columns which
                                                           support the blast furnace.
         b) two kinds of chemical reactions.
2) There are...                              c) mistakes   in   the   organization   of
                                                               production in Ukraine at that time.
          d) a strong force of electrical attraction in
                    the hydrogen atom.

3) There was ...                              e) physical   and   chemical   differences
                                                                  between metals and non-metals.
                                                     f) dozens of ways of liberating electrons
                                                               from atoms.
4) There were ...                          g) two methods of agglomeration in the
                                                              iron-making industry.
                                                        h) many difficulties in the iron and steel
                                                           industry after the Great Patriotic War.
5) There will be ...                          i) new equipment at this works next
               month.
                                                      J) outdated equipment at metallurgical
                                                           plants in 1920.
Задание  2.  В  колонке  справа  найдите  части  предложений,  являющиеся грамматическим и логическим завершением начатых в колонке слева вопросов.
1) Аrе...                                       a) coke breeze the most common solid
                                                          fuel?
                                                    b) zinc cheaper than copper?
2) Is …                                       c) metals good conductors of electricity?

      d) many ways of liberating electrons
               from atoms?
3) Was ...                                   e) malleability  and  ductility  metallic
                                                           properties?
                                   f) aluminium and magnesium light in
      weight?
4) Were ...                                g) heat one of the best known forms of
      energy?
                                         h) metals solids at ordinary temperature?
5) Is there ...                                i) silica the only natural acid flux used in
       steel-making?
                                                J) the iron and steel industry in a good

                                                state after the Great Patriotic War?
6) Are there …                             k) many rolling mills in Ukraine in 1935?
                                         I) any method of direct reduction of iron
       ore?
7) Were there ...                          m) a passage near the top of the furnace
                                                    to carry away the gasses? 

                                                    n) protons,  neutrons and  electrons 
                                              defined as the main bricks of atomic                                              
                                                 structure at the beginning of  20 th century?
Задание   З.   Укажите   индексы   русских   предложений   в   колонке   справа  эквивалентных английским предложениям в левой колонке.
1) Bronze is an alloy of copper and tin.       a) Протоны - частицы атомов.
 2) Protons are particles of an atom.             b) Среди первых металлов,
                                                            используемых человеком, была медь.
3) Copper was one of the first metals           c) Твердость и прочность металлов -
used by man.                                                  некоторые   из   их   наиболее
                                                                       важных механических свойств.                           4) Hardness and strength of metals are          d) В атоме находятся положительно some of their most important mechanical      заряженные частицы - протоны. properties.
5) The particles of protons are in the             e) Частицы   протонов   находятся   в
atom.                                                               атоме.
6) There is copper and tin in the alloy of        f) В сплаве бронзы есть медь и олово.
 bronze.
7) There are positively charged particles       g) Среди некоторых наиболее важных
 - protons in the atom.                                    механических   свойств    металлов -
                                                             твердость и прочность.
8) Protons are positively charged                   h) Медь   была   одним    из   первых
particles.                                                         металлов, используемых человеком.      9) There was copper among the first              i) Протоны - положительно                                                                                                  metals used by man.                                       заряженные частицы.
10) There is hardness and strength among    j) Бронза  представляет  собой  сплав some of the most important mechanical       меди и олова.

 properties of metals.

Задание 4. Прочитайте текст и опишите возможные способы защиты металлов от коррозии.
Almost all metals and alloys subjected to the action of atmospheric air or other surrounding media (for example, sea water, soil, acid and alkali solutions, organic liquids, etc.) are gradually destroyed, beginning from the surface, and lose their initial appearance. This progressive destruction of a metallic surface exposed to an external aggressive (active) medium is called corrosion.

Experience shows that corrosive destruction depends mainly upon the following three factors: (1) the chemical nature of the metal or composition of the alloy and their structures; (2) the chemical nature of surrounding medium and the percentage of aggressive matter in metals (oxygen, moisture, acids, alkalis, etc.) and (3) the temperature of the surrounding medium.
As to its character, metal corrosion may be classified as: (1) uniform corrosion, in which the whole surface of the metal or alloy is corroded with equal intensiveness; (2) localized corrosion, in which only certain areas of the surface are attacked; (3) selective corrosion, where only separate structural components of an alloy are affected and (4) inter crystalline corrosion, which involves destruction of the metal or alloy along its grain boundaries.
The principal corrosion protection methods applied to practice are: (1) alloying metals to obtain chemically inactive alloys of special composition; (2) forming oxide films on the surface of metallic parts; (3) applying protective metallic coatings to the parts; (4) protecting the surface of metal with a coat of paint or lacquer.
ГЛАГОЛ  «ТО  HAVE»                                  ЗНАЧЕНИЕ, УПОТРЕБЛЕНИЕ, СПРЯЖЕНИЕ
Английский глагол to have может употребляться, как смысловой глагол с основным значением иметь, обладать: 
Different metals have different chemical properties.
Различные металлы имеют различные химические свойства.
Copper has extremely high electrical conductivity.
      Медь имеет чрезвычайно высокую электрическую проводимость. 

и как вспомогательный глагол (в этом случае он не переводится на русский язык):
They have mixed these substances.
Они смешали эти вещества.
Глагол to have используется для образования времен группы Perfect и оборота долженствования to have + Infinitive.
Спряжение глагола to have в Present, Past, Future Simple Tense
	Present Simple
	Past Simple
	Future Simple

	I         have you    have he      has 
she     has 
it        has     we      have   they   have
	І        had 
you    had   
he      had 
she     had
it        had     we      had     they   had
	I       shall have you   will have he     will have she    will have 
 it      will have we     shall have they   will have


При образовании   отрицательных   и   вопросительных   предложений   с глаголом to have используется вспомогательный глагол to do (does, did): 
Does an electron have a small mass?                                                                             Электрон имеет маленькую массу?    
 Do metals have high melting points?                                                                                             У металлов высокие точки плавления?
Atoms don't have electric charge in their normal state.
Атомы не имеют электрического заряда в обычном состоянии.
Примечание: В конструкции to have + Infinitive глагол to have теряет свое основное значение «иметь» и приобретает значение долженствования. При переводе этой конструкции на русский язык следует помнить, что глагол to have выражает необходимость совершить действие и переводится словами «должен, приходится, обязан»:      
New equipment has to be put into operation at this plant.                                                       Новое оборудование должно быть введено в строй на этом заводе.   

Вопросительная и отрицательная формы   этой конструкции образуются по общему правилу.
Задание 1. Выберите из таблицы необходимые по смыслу глагольные формы и вставьте их вместо точек в предложения.
a) have               b) has               c) had              d) will have

1) Today we… a new technology of converting pig iron into steel.
2) Carbon ... a marked effect upon iron.
3) Phosphorus and sulphur ... a harmful effect upon steel.
4) In 1935 Ukraine ... 172 rolling mills.
5) Mixtures ... properties which depend on the proportion of the constituents.
6) Electron ... a very small mass.
7) Metal and their alloys ... a characteristic lustre.

8) Each metal... а certain critical temperature.
Задание 2. Найдите в колонке справа логическое окончание предложений из левой колонки, обращая внимание на необходимость согласования глагола to have с подлежащим.                

1) Carbon ...
  2) Phosphorus and sulphur...
  3) Mixtures ...
  4) Today we ...
  5) Metals...
       a) have properties which depend on the

       proportion of the constituents.
       b) have a new technology of converting
                  pig iron into steel.
       c) has a marked effect upon iron.

       d) have a harmful effect upon steel.

                 e) don't have electric charge  in their

normal state.
6)  Each metal...
7)  Electron ...
8)  Atoms ...
                   f) has a very small mass.
                  g) has a certain critical temperature. 
                   h) have   comparatively   high   melting
                    points.                          
   9) Copper…                                              i) has high electrical conductivity.
 10) The largest blast furnace…                  J)  has a capacity of 11,000 tons of metal
                                                           а day.                             
Задание 3. К вопросам из левой колонки найдите логически и грамматически верные ответы в колонке справа.
1)  Do metals and their alloys have a          a) Yes, it did.
characteristic lustre?
2)  Do atoms have an electric charge in       b) No, it didn't.
their normal state?
3)  Does electron have a great mass?              c) No, it doesn't.
4) Do different metals have the same          d) Yes, they do.
chemical properties?
5) Does   copper   have   low  electrical       e) No, they didn't.
conductivity?
6)  Did Ukraine have 172 rolling mills in     f) No, they don't.
1935?
7)  Does carbon have a great effect upon     g) Yes, it does.
iron?
Задание 4. Прочитайте текст и определите, о каких из ниже перечисленных фактах упоминается в тексте, какие утверждения соответствуют его содержанию.
Properties of Substances
Some of the elements are very common on the earth, others are rare. A limited number of chemical elements compose all the materials people find on their planet. Up till now there are 104 elements known - each of them is of great importance.
Elements are characterized by some properties distinguishing them from other substances. The main of these properties are their colour, hardness, odour, taste,
density, solubility in water or other liquids, ability to conduct electricity, etc. The ability to burn in air and the manner in which an element enters into chemical reactions with other substances are also properties that help to distinguish one element from another.
The properties of the elements help to determine whether a substance is necessary or useful for industry. For example, copper, as a good conductor of electricity, is of great value. Carbon and hydrogen are also useful because they combine easily with oxygen and in this reaction liberate great quantities of heat.

Various combinations of different elements produce all the forms of matter                common on the earth: water, sugar, salt, and thousands of others. These are chemical compounds which are produced by a chemical combination of two or more atoms.
When elements go into chemical reactions, their properties entirely change. For example, sodium is chemically a very active material, and chlorine is an active gas. When the atoms of these two elements combine, they form a mineral substance. As another illustration, hydrogen and oxygen are both gases that combine chemically and form water.
1. Этот текст о:
a)  Classification of elements.

b)  Properties of elements.

c)  Composition of substances.

2. Из текста мы узнаем, что:
a)  The most useful classification of elements is that furnished by Mendeleev's Periodic System.

b)  There are 104 chemical elements which are known to people.

c)  Metals are characterized by metallic lustre, malleability and ductility.

d)  Sodium is chemically a very active material.

e)
 Copper, as a good conductor of electricity, is of great value.
          f) When hydrogen and oxygen combine they form water.
       g) Tungsten is valuable because of the several important properties it 

possesses.
Текст 1

IDUSTRY IN UKRAINE

Ukraine is known for its highly – developed industry having 150 branches. This country is leading Europe in such indicators of economic development as steel, mineral fertilizers, tractor output. It takes the second place in coal output and the third place in the production of electric power, cement and metal-cutting tools.

Ukraine gives 5 per cent of world’s production, having only 0,8 per cent of world’s population.

To estimate the economic potential of any country, one must look at its steel production. It’s not accidental, therefore, that the story of the Ukrainian industry started with metal. Ukraine, when a former USSR′s republic, accounted for more than half of its total output of iron ore and 45 per cent of iron.

Ukraine can smelt over 50 million tons of steel a year. This is twice as that produced in France or Great Britain. The daily coal mining haul is quite considerable too.

With every passing year the national economy needs more and more metal. Nowadays the enterprises of ferrous metallurgy pay more attention to the prior development of progressive processes and technologies (for example, a direct reduction of ores, bypassing a blast – furnace stage), making it possible to improve considerably the quality and to increase the production of economical types of metal products.


To save ferrous and non-ferrous metals, the output of various plastics, chemical fibers and paints has increased. These materials are intended for use in construction, mechanical engineering, light and food industries.


There is no doubt that the Ukrainian industry will be on a steep upsurge in the near future.


Some people imagine the Ukrainian capital as a place of entertainment alone, with lots of theatres, concert halls and museums.


But Kyiv ranks among the industrial and scientific centers of Ukraine. Plants and factories of the Ukrainian capital produce machine-tool, computing machines, seiners, excavators which proved highly efficient at many construction sites. The planes made there fly on most airways of this country, they can also be seen in many foreign airports.


For the first time in the history of mankind Yuriy Gagarin photographed our planet from the outer space with a camera manufactured at the “Arsenal” plant.


And Aleksey Leonov made welding in outer space with an apparatus created at the E. Paton Electric Welding Institute of the Academy of Sciences in Ukraine.


Many Kyiv-made industrial articles exported to more then 60 countries are of high quality.
Проверьте понимание текста, ответив на предложенные вопросы. Переведите их. 
1. What is Ukraine known for?

2. In which indicators of economic development is our country leading Europe?

3. How many per cent of world’s production does Ukraine give?

4. What did the story of Ukrainian industry start with?

5. Can Ukraine smelt 50 million tons of steels a year?

6. What do the enterprises of ferrous metallurgy pay attention to nowadays?

7. Why is the output of various plastics, chemical fibers and paints increased?

8. What industrial goods do the plants and factories of the Ukrainian capital                     produce?

9. Where can you see the planes made in Kyiv?

10. How many countries are lots of Kyiv-made industrial articles exported to?

Текст 2

METALS. HISTORICAL REVIEW.
The first metals used by primitive man were those that are found free in nature to the greatest extent. These are gold, silver and copper. They were employed by Egyptians in the manufacture of jewelry and dishes as early as 5000 B.C. Coins made from various combinations of these metals were also in use at an early time. Tin entered the metal picture when someone  discovered, probably accidentally, than if it were mixed with copper the resulting substance was harder. So there came into being the alloy that we call bronze, a material which was so important in the ancient world that its name is given to one of the cultural stages in human development. The Bronze Age began in Egypt around 3000 B.C. and in Europe some 500 or 1000 years later.


Since almost no iron exists free in nature, it undoubtedly came into general use somewhat later than those just mentioned. However, the Egyptians and Assyrians made some use of iron a number of centuries before the birth of Christ. Homer describes weight – throwing contests in Greece, in which a piece of iron served both as the object to be thrown and as the prize to be awarded to the winner. 


As soon as methods were developed for separating iron from its ores in reasonably large quantities and at fairly low cost it was classed as a precious material and began to obtain its position as the world’s most valuable metal from the standpoint of actual use.


The uses of metals are based upon their physical or chemical properties. Metals vary in density, hardness, heat and electrical conductivity and weight. The lightest is lithium and the heaviest is osmium. The hardness of metals depends upon the presence of other substances in them and the nature of the metal itself. Metals are the best conductors of heat and electricity.


The most widely used metals are: iron, copper, zinc, tin, lead, mercury, silver and gold. The most important metal is iron. 


Nowadays, aluminium, magnesium and sodium have become common due to the development of electrochemical processes for their production. 
Metals occur most commonly as oxides of sulphides in ores. They must be separated from gangue material such as clay, silica, granite, etc.
Проверьте понимание текста, ответив на предложенные вопросы. Переведите их. 
1. What were the first metals used by primitive man?

2. In what way were the first metals employed by the Egyptians 5000 B.C.?

3. How did tin enter the metal picture?

4. Which material was so important in the ancient world that its name is given to one of the cultural stages in human development?

5. When did the Bronze Age begin in Egypt and in Europe?

6. Was iron classed as a precious material?

7. When did iron begin to obtain its position as the world’s most valuable metal from the standpoint of its actual use?

8. What are the uses of metals based upon?

9. What do metals vary in?

10.  Why have aluminium, magnesium and sodium become common nowadays?

Текст 3

LABOUR and CAPITAL

Money is not only a means of exchange but also a means of measuring the value of man’s labour. In economic theory, “labour” is any work undertaking in return for a fixed payment. It is not therefore labour in the strict economic sense.

As a scientist, the economist is interested in measuring the services which people render to  each other. Although he is aware of the services which people provide for no financial reward, he is not concerned with these services. He is interested essentially in services which are the measurable in terms of money payments of a fixed and/or regular nature. In the theory of economics, money is the standard by which the value of things is judged. This standard is not religious or subjective standard, but an objective and scientific one.

Human labour produces both goods and services. The activities of a farm-worker and a nurse are very different, but both are measurable in terms of payment received, labour in this sense is not concerned with distinctions of social class, but simply with the payment of wages in return for work. When we talk about “the national labour force”, however, we are thinking of all those people who are available for work within the nation, i.e. the working population.

It should be noted that any person engaged in private business is not paid a fixed sum for his activities. He is self-employed and his activities are partly those of an employer and partly those of an employee. If however he employs an assistant, to whom he pays a fixed wage, his new employee provides labour in return for payment. He receives his wages, while his employer receives the surplus (large or small) from the whole business. This surplus is the reward of private enterprise and is known as “profit”.

Проверьте понимание текста, ответив на предложенные вопросы. Переведите их. 
1. What is money, in addition to being a means of exchange?

2. What, in economic theory, is considered to be “labour”?

3. Why is mother’s work considered to be not “labour”?

4. What does the economist measure?

5. What two words are used to describe the money standard?

6. What two words are used to suggest different standards from the money     standard?

7. What is labour (in the economic sense) not concerned with?

8. What term is used to describe a person engaged in his own private business?

9. What does the employer receive instead of wages?

10.  How is the reward of private enterprise called?
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